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SOCIAL WORK

Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

1.

questions are compulsory.

Which one of the following is not an

indicator of social development of a

country ?

(A) Infant mortality rate

(B) Awverage life span

(C) Incidence of litigation in the
courts

(D) Literacy rate

The Child Marriage Restrain Act was
enacted in the year

(A) 1929 (B) 1930
(C) 1931 (D) 1932
The best example of verbal

communication skill is

(A) Good vocabulary

(B) Competence in oral
presentations

(C) Fluent speech

(D) Participate in training and
research

Acceptance is a principle of social

work which implies

(A) Accepting client in his/her
appearance.

(B) Extending warm welcome to
the client.

(C) Accepting the client as he/she is.

(D) Accepting the client’s version
asitis.

‘Mongolism’ is the type of

(A) Geographical division of land
(B) Topographical structure

(C) Mental retardation

(D) Arreligious sect

What is Anuloma marriage ?

(A) Higher caste man marrying
lower caste woman

(B) Higher caste woman marrying
lower caste man

(C) Lower caste man marrying
higher caste woman

(D) Lower caste woman marrying

higher caste man
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7.

Identity V/S role confusion is the
task of

(A) Adulthood

(B) Oral stage

(C) Old age

(D) Adolescence

The Rio Earth Summit of 1992 dealt
with the theme

(A) Sustainable development

(B) Climate change

(C) Poverty reduction

(D) Agricultural development

Match the following names of the
books given in List — | with the
authors given in List — Il and select
answer from the codes given below :
List—1 List— 11
(Book) (Author)
a. Social Work i. B. Kuppuswamy
Education
and  Social
Work
Practice in
India
b. An ii. T.K. Nair
Introduction
to Social
Psychology
c. Social Group iii. Polansky
Work
Practice
d. Social Work iv. Wilson and
Research Ryland
Methods for
the Helping
Professions
Codes :
a b c d
(A) i v i ii
(B) ii i iv il
(C) iv il i iii
(D) i v i i
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7.
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~

T

a b c d
(A) i v [ i
(B) ii [ iv il
(C) iv il i iii
(D) i v i [

Paper-I1



10.

11.

12.

Assertion (A) : Sigmund Freud
claims that sex instinct is the

source of all human
endeavours.
Reason (R) : Social

psychologists have tried to
explain human behaviour in
terms of instincts.
Codes :
(A) Both (A) and (R) are true.
(B) Both (A) and (R) are not true.
(C) (A) istrue, but (R) is not true.
(D) (A)is nottrue, but (R) is true.

Assertion (A) : Social work
profession  recognises  the
family as an important system
in its own right.

Reason (R) : The family as a unit
is worthy of study and
intervention.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) Both (A) and (R) are false.

(D) (A) is true, but (R) is false.

Match the following :

List—1 List— 11
a. Payment of i. 1936
Bonus Act
b. Payment of ii. 1948
Gratuity Act
c. Payment of ii. 1965
Wages Act
d. Minimum iv. 1947
Wages Act
v. 1972
Codes :
a b C d
(A) i v [ i
(B) iv v I i
C) v i ivo il
(D) i v i

Paper-I1

13.

14.

15.

16.

Mandatory testing for HIVV/AIDS can

be done when

(i) Government wants it.

(i) One wants to know about
HIV/AIDS patients in the
population.

(ili) Regular medical checkups are
held.

(iv) During blood donation

Codes :

(A) (i) and (ii) are correct.

(B) (i) and (iii) are correct.

(C) (i) and (iv) are correct.

(D) Only (iv) is correct.

Which of the following does not
threaten internal validity ?

(A) Maturation of passage of time
(B) History

(C) Instrumentation

(D) Randomization

The hypothesis by which the
researcher not only asserts that the
variables will be found to be related,
but also predicts the direction of their
relationship is called

(A) one tailed

(B) two tailed

(C) null hypothesis

(D) none of the above

Match the following :

List—1 List— 11
(Event) (Date of
Observance)
a. World Anti i. Jan12

Tobacco Day
b. National Youth ii. May 31

Day

c. International iii. Oct 12
Youth Day

d. World Girl iv. Aug 12
Child Day

Codes :

a b c d

(A) i i i v

(B) ii i iv il

) i iii i iv

(D) iii i i iv
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11.

12.

Afiee (A):famve wEe @@ J@n
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T YA o B €|
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%
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(C) (A) 3R (R) I ST T |

(D) (A) T &, W (R) AT |

Fretferfias 1 e 3¢

= - | =t - 11
a. I T i. 1936

Atafs
b. SUGH A ii. 1948
iii. 1965
iv. 1947

v. 1972

13.

14.

15.

16.

TT e AUy & ol sty whe

T fepan ST Hehell € ST

(i) TTHR U T& € |

(ii) I STEET | TF I o /OeE
?ﬁﬁﬁﬁm‘r%aﬁﬁwm
|

(iii) Tt fafeadia St = S & |

(iv) & TH % IR

H

(A) (i) 3T (i) T E |

(B) (i) 3 (iii) W& & |
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(D) fad (iv) W& |

fTfefad § ¥ 97 TR dudl &

o2 T & ST 2

(A) T HT R AT

(B) sfder™

(C) SrgHew (vream)

(D) aTgTeFehIHTIT

yMgehal 9 aReReuH T % STER W A
o SeTgei® I8 R ¢ o o) gEIrad
U ST, TR 3 TRy i {9
ff JaTTA AT & T FHEAH & 2

(A) TS
(B) TT=
(C) v uRsbeqm
(D) SUg | § g T@l
e st gferd &Y
= - | =it - 11
(STEATY) (wr i fafer)
a. fava g et Q. 12 SHE
feag
b. T e fge i, 31WE
C. ST Far iii. 12 31T
feag
d. forea aferet iv. 12 31T
feag
FHT
a b c d
(A i i i v
(B) ii i iv il
C) i i i v
(D) Qi i i v
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17.

18.

19.

20.

21.

The National Commission for
Women was established in the year

(A) 1957 (B) 1986
(C) 2001 (D) 1992

Kaka Kalelkar was associated with
(A) Scheduled Caste Commission
(B) Scheduled Tribe Commission
(C) Backward Classes Commission
(D) Minorities Commission

The method by which the relative
worth of Jobs in an organisation is
determined is called as

(A) Job Description
(B) Job Evaluation
(C) Job Specification
(D) Job Analysis

Arrange the following Acts in order
in which they were enacted. Use the
code given below :

(i) The ESI Act

(i)  The Provident Fund Act

(iii) The Maternity Benefit Act

(iv) Workmen’s Compensation Act
Codes :

A i i v i
B®) i v i i
©) v i i i
©) v i i i

Cognitive needs’ of human beings
are the needs

(A) to develop abilities
(B) for symmetry, order and beauty

(C) for security and freedom from
attack

(D) to know, to understand and to
explore

Paper-I1

22.

23.

24,

25.

‘Learned helplessness’ is a concept
based on

(A) Unconditional positive learning
(B) Social learning theory

(C) Hypothetical constructs

(D) Psychoanalytic approach

Match the following :

List—1 List— 11
a. Social I. Medical
investigation social work
report
b. Discharge ii. Child
planning guidance
centre
c. Workmen’s iii. Probation
compensation
d. Behavioural iv. Social
problems security
Codes :
a b C d
(A) iii [ iv i
B) i iv i i
(C) iv il i [
(D) i i i v

Which one of the following is not
necessary for project formulation ?

(A) Setting objectives and targets
(B) Design of strategies

(C) Identification of  potential
obstacles

(D) Documentation

FCRA stands for

(A) Foreign Contribution (Rules) Act

(B) Foreign Contribution
(Regulation) Act

(C) Federal Contribution

(Regulation) Act.
(D) None of the above
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17.

18.

19.

20.

21.

AT Afeen STENT R 99 ° wud
3T T ?

(A) 1957
(C) 2001

(B) 1986
(D) 1992

chlchl chlcfeich{ l(\°bH°h qr qmﬁ"qﬁ % ?
(A) ST ST s

(B) 3TIgMad SIS =T

(C) Tu=e ot = /=M

(D) 3TCUGEIH! HT TN

Tt stfufrmt @ e sttt
N % %Y | Faied Y 3R T
el HT AN e

i, TUdemE siufEm

i, wfos [y stfutem

iii. v orgfaen etfufam

iv. SHPR ey sAfufam

%

A i i v i

B) i iv i i

©) iv i i i

©) iv i i i

fow gt € 2

(A) &t foshtad < & o

(B) wiqame=r, e qur Wi<d & ford
(C) omFRAUT | T a1 WA=l &

(D) I A, GHeH AR U0 &
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22.

23.

24,

25.

TS RoaeiaH i’ (Tifecaqul HEaarad)
foF T eiRe STaemon € 2

(A) 3T THRIHS T
(B) TET 3hTH Tag
(C) WTRhea-TcHS Ta-TE

(D) TR SUTTH

frfetaa = faem 1
= - | =it - 11

a. QISR i. et
T e ST

b. g (feger) ii. 7 Fevm
BRISE] o

C. IR iii. gfaem
3T

d. FEERTWH iv. HET
T T

FT
a b c d

(A Qi i v

B) i v Qi i

€) v Qi di i

(D) i i i v

RIS GATHROT & fote Feaferfad o @

FT EYAF Tél & ?

(A) 3T 3R A iR e
(B) & ifqat = festea
(C) Hemfad TEEmeti i uedr
(D) welEH

TF ¥ 3R U e ford € 2
(A) IRA FIZHTH (o) TR
(B) WA HifgeqeM (TIvH) Tae

(C) TheId Hitgeg¥H (T[CIXH) TR
(D) SUgH | H HIE Tl
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26.

27.

28.

29.

Match items in List — | with List — 11
and choose the correct answer from
the codes given below :

List—1 List— 11
(Method) (Technique)

a. Social case i. Funnelling
work

b. Social group ii. Gherao
work

c. Community iii. Person
organisation situation

configuration
d. Social action iv. Norming and

storming
Codes :
a b c d
(A) i v i i
(B) iii v i ii
C) i i iv i
(D) iv i i i

Which one of the following is not a
treatment group ?

(A) Growth group

(B) Socialisation group
(C) Educational group
(D) Study team

Indecent Representation of Women
(Prohibition) Act was enacted in year

(A) 1976
(B) 1986
(C) 1996
(D) 2006

Which of the following governance
mechanism is the highest body for
policy formulation in NGOs ?

(A) General body

(B) Managing Committee
(C) Sub Committee

(D) Chairperson
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30.

31.

32.

33.

Match the items in List — | with items
in List — Il and choose the correct
answer from the codes given below :

List— I List—11
(Author) (Method/approach)

a. Octavia i. Problem solving
Hill approach

b. Murry G. ii. Social group
Ross work

c. H.H. iii. Community
Perlman organisation

d. Gisela iv. Housing reforms
Konopka

Codes :

a b C d

(A) Qi i v [

(B) iii v [ i

C) v iii [ i

(D) i i v

Obijectively in research means the

willingness and ability to examine

evidence dispassionately is called

(A) espirit de corps of the scientific
method

(B) cours de philosophic of the
scientific method

(C) la carriere of the scientific
method

(D) sine qua non of the scientific
method

In participatory

people’s participation is

(A) an end, not just a means to
development

(B) only a means to development

(C) neither an end nor a means to
development

(D) only a means not an end to
development

development,

If the client persists in verbal attacks,
the technique used is

(A) Confrontation (B) Scanning
(C) Fogging (D) Explaining
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26.

27.

28.

29.

gt — | § we} 6 g — || H 6e) % qy
goferd &Y R A 3 Ff ¥ Tal W
T T HY
= - |
(farfen)
a. gt
ST

b. AT T

Eap)
C. AHRIEaE ii. st fefa
T rufeTss e
d. SIS Shar v, ST Ue ST
T

(=N

= - 11
(GEXIED)
i, AT
(SPITRTIET)
ii. E

a b c d
(A) Qi v il i
(B) iii v i ii
€ i i v i
(D) iv i il i

frefefad 5 @ &9 d1 SR (2eHe)
g & § ?

(A) 9F a9

(B) WU T

(C) ifer Te

(D) 3o1&F7F A

S e wur (ufdquy) stufEm fed
ag o St g o ?

(A) 1976

(B) 1986

(C) 1996

(D) 2006

frefefad & @ ®F 9 Ime ety
W WHR et |7 Aifg = @6
e T 2

(A) TETET

(B) veeH @M

(C) 3u-amfd

(D) eream
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30.

31.

32.

33.

gt - | B O&1 @ gEt - || H 91 & 9

goferd s AR A 3 Ft F TEl W

T T FY
= - | =t - 1
(eTEh) (Farfer/sarm)

a. SfeRefaan i, 99w gEEH
e U

b. WS AT ii. AHINH T H

C. TEUH. iii. SRITES W
TeTH

d. feeer iv. STETHE Tra=t
HIHIH U

%

a b C d

(A Qi i v

(B) i v i i

€) iv i i i

O) i i Qi v

oMY H AT ST o W

foerdr @ S F=A H ST 3T

&I & T B & ?

(A) fEie T SR 3w 1 A=k
PEy

(B) &+ T fhel@ifhes &% a1
Tzl Here

(C) < HER ST It Higheitheh HerE

(D) T =1 9 ok & @iEefrs
PEy

T foehT H, ST <l TEITeT 37T & 2
(A) T &, FHact e B AeT el |
(B) et Tk T ATEA € |
(C) =t arexr 7 &l faehr &1 A € |
(D) forhr =1 heret TrE € 3T ST

e @l |
i Garell aifaes STelT A W3Sl
& &, o foh deiies 1 STan fmar
ST & ?
(A) THET
(B) <RI Sirer AT
(C) gfeT T
(D) gH=AT
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34.

35.

36.

37.

38.

39.

‘Power’ is gained whereas ‘authority’ is
(A) acquired (B) possessed
(C) imposed (D) nested

The point where two axes intersect is
known as

(A) Xaxis
(C) Origin

(B) Y axis
(D) Table

The value that is repeated most often
in data set is known as

(A) Median
(B) Mode

(C) Frequency
(D) Variance

Who among the following said that
justice is crucial to understand
human rights ?

(A) Peterson
(B) John Rawl
(C) Smith

(D) Stephenson

The Universal Declaration of Human
Rights was adopted in

(A) 1944 (B) 1945

(C) 1947 (D) 1948

Assertion (A) : Maintaining  case-
files is an important duty of a
psychiatric social worker.

Reason (R) : Case  files are
important sources of data
collection in mental health
research.

Codes :

(A) Both (A) and (R) are true.

(B) (A) is true and (R) is not the
correct explanation of (A).

(C) Both (A) and (R) are not true.
(D) Both (A) and (R) are true and (R)
is the correct explanation of (A).
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40.

41.

42.

Assertion (A) : Human Resource
Manager have to be a good
human being.

Reason (R) : Human values and
ethics should be essential part
of management education.

Codes :

(A) (A) is correct and (R) is not the
correct explanation of (A).

(B) (A) is correct and (R) is the
correct explanation of (A).

(C) (A) is not correct but (R) is the
correct explanation of (A).

(D) Both (A) and (R) are not
correct.

Assertion (A) : When professional
social work ingrains itself, in a
practice modes, it can reduce
the enormity of social problems
in a given society.

Reason (R) : Unless professional
social workers develop
competencies and convictions,
they cannot address complex
social problems.

Codes :

(A) (A)is true but (R) is not true.
(B) (A)is not true but (R) is true.
(C) Both (A) and (R) are true.
(D) Both (A) and (R) are not true.

A set of guidelines that give direction
to action by an organization or
government is called

(A) Social policy

(B) Social planning
(C) Social principles
(D) Strategic planning
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34.

35.

36.

37.

38.

39.

i’ & e R Sar € Sete
‘YR (AT TT) i

(A) I fopar ST ¥ |

(B) oSt Tl ST & |

(C) omifyd fpar ST & |

(D) Ffed foram ST € |

forer forg T A T T G W HE £
FT FHEAT & ?
(A) X a1
(C) H

el Sifhel Tq=a | ST A Faias
IR SETT ST & T FHEAT & 2

(A) wreER

(B) =gt

(C) emgfd

(D) 9=

frafafea & 9 o w1 ¢ %
AR ot 9HeH & o = ofa
HewIqoT & 2

(A) e (B) St It
(C) fTm (D) TWIwTE=

ARl sl HEHH SO0 s e
ST AT AT ?
(A) 1944
(C) 1947

(B) Y 3w
(D) arfereT

(B) 1945
(D) 1948

AfWHYT (A) : FI EEe H T
FX @ AAREHE IS
HIEFAT HT FETaqUl FHed § |

HROT (R) © G WEE, HHEES
@ Iy HOSAheT GEeH &

Hewaqul & 8l & |

T

(A) (A) 3R (R) ST T € |

(B) (A) ¥F ¢ 3 (R), (A) &I Tl
T TR € |

(C) (A) 3R (R) Il T T € |

(D) (A) 3R (R) sHi & € 3R (R),
(A) =l &l =TT |
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40.

41.

42.

AfHA (A) : OFT GO UEEsE
1 IAH HIE H 7T 2T =T |

FHRT (R) DA el 3R
Afqear yemm oen & e
39T B e |

FHT

(A) (A) T T 3R (R), (A) & Ter
T B ¢ |

(B) (A) @& ¢ 3R (R), (A) & T
T |

(C) (A) W =& & W= (R), (A)
e AT T |

(D) (A) 3R (R) I W&l =i € |

AfWFHYT (A) : T AEAIE  GHS
FE TG N TR €T H FHE
HAT ¢, a o 5 ™ wEs |
TSI T Sl e i A
H GHATE |

#HROT (R) : UPeR GHNT  HEEAr
& dF U ek fawerw
fofaa &l X od §, I e
HrIiSTer TEETST S T Tal
FT G § |

T

(A) (A)TF &, R (R) TF Tl ¢ |

(B) (A)TT T & R (R)FHT |

(C) (A) IR (R)TA AT |

(D) (A) 3R (R) I I =T € |

e AT THR §RT FEAE i FG9H
e TS eT T qYE T el ¢ 2
(A) TR i

(B) QMRS FHAsH

(C) HmMIT st

(D) MR M
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43. Match the following fears with their

technical names :

List—1 List— 11
a. Hydrophobia 1. Fear of heights
b. Nictophobia 2.

c. Acrophobia 3.

Fear of darkness

Fear of water

d. Pyrophobia 4. Fear of fire
Codes :
a b C d
A 3 2 4 1
B 2 3 1 4
© 2 3 4 1
(D) 3 2 1 4

44. Assertion (A) : Drug abuse has been
on the increase.

Reason (R) : The control  of
family and intergenerational
communication is declining.

Codes :

(A) (A)is true and (R) is not true.
(B) Both (A) and (R) are not true.

(C) Both (A) and (R) are true, but
(R) is not the explanation of
(A).

(D) (A) is true and (R) is the
correct explanation of (A).

45. The F-testisa
(A) Parametric test
(B) Non-parametric test
(C) Discriminant analysis
(D) Health status test
Paper-I1
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Read the passage given below and answer
the following questions as per the
understanding of the passage (Question
Nos. 46 to 50)

History has led to vast inequalities, leaving
almost three-fourths of the world’s people
living in less-developed countries and one-
fifth below the poverty line. The long-term
impact of past industrialization,
exploitation and environmental damage
cannot be wished away. It is only right that
development in this new century be even
more conscious of its long-term impact.
The problems are complex and the choices
difficult. Our common future can only be
achieved with a better understanding of our
common concerns and shared
responsibilities.

Poverty and a degraded environment are
closely inter-related, especially where
people depend for their livelihoods
primarily on the natural resource base of
their immediate environment. Restoring
natural systems and improving natural
resource management practices at the
grassroots level are central to a strategy to
eliminate poverty.

The survival needs of the poor force them
to continue to degrade an already degraded
environment. Removal of poverty is
therefore a prerequisite for the protection
of the environment. Poverty magnifies the
problem of hunger and malnutrition. The
problem is further compounded by the
inequitable access of the poor to the food
that is available. It is therefore necessary to
strengthen the public distribution system to
overcome this inequity. Diversion of
common and marginal lands to
‘economically useful purposes’ deprives
the poor of a resource base which has
traditionally met many of their sustenance
needs.
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43. D ST = YIS i STk ThAh AT

% H1 GHfeTd HITTT

=t - | = - 1
a. TEEHEET 1. SO 9T
b. Fe®ilgar 2. IYER T 9T
C. Tshithiferan 3. TAEYT
d. TEwEEr 4. M WY
FHT

a b c d

A 3 2 4 1
B 2 3 1 4
C© 2 3 4 1
M 3 2 1 4

44, HEWHUR (A) : HEH TR H GO

TEWE |

HROT (R) © URER W HE=oT aen

(A)
(B)
(©)

(D)

T GET GO0 HH & @I |

(A) T € 3R (R) I T & |
(A) 3R (R) ST T &1 € |

(A) 3R (R) 31 e €, R (R),
(A) &t =T TEE |

(A) 5 & 3R (R), (A) ® @l

T |

45. F-odeqor e € ?

(A)
(B)
(©)

(D)
S-10-13
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e e T uRess U 3R uwss & ST 9ue
% SMER W 3 A 5 oo (F. 46 ¥ 50) &
T

e 3 fommer srEEEareT ® S I €
Tove &0 SHEET B TG-S 9T A
foplad 39T | Y el & S gr=ar 9uT et
@ ¥ A § | foma efenfieRentor, whor 3w
ARV THAH o JTeHICAh TS I FH
T&I fopar T Tehar & | WEl Tt = i i 5
T2 sl | fae eoom Jdeiters w9
3T o 31feh SITEs & | @ Sffeet & 3R
foeheT Hic € | SAR HAATHT YT i hael
qdt U TR ST Gt § ST gUR gaar=T
et 3T Tl [SesIRET 6 THer Jga) &l |

T 3R i gaieroT e ' 9
AqgrEfyd € foew w9 @ @ A S
SHifaeprsti % o/ 310" Alhlicish aTameRyT &
TTehideh AT R W 19X & & | TR
H I A N AT HT T I ATHAH
LS I T TN AT 3T Joe T
W WHAe TqEd v uRuifedt &t 3+
FATE |
3% Ted § & STashiAd aTdeRoT i e
F & o gdd ¥ F 9T H § | S,
FTATEROT S T & ford TRET S T BT
T Qe € | TRIE JEEd S Huor w5l
T T AT Al & | TE TR, TR
o2 3uctey @y et it ST-HHed Tl %
HROT 3R o Ig STl & | 37; TH STHHAA T
Fg TH F oI FresHE faawer yomet
TS AT TEh & | WA a2 W
T 1 3TIF €T W TN 39 TR B G
YR § dfead & a1 ¢ T8 e 9gd &t
SliagfaTe Tl STEvahdrst H URHERE
Y Qi |
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Literacy and a basic education are essential
for enabling the poor to access the benefits
offered by development initiatives and
market opportunities. Basic education is
therefore a precondition for sustainable
development. A sizeable proportion (about
60 percent according to some estimates) of
the population is not integrated into the
market economy. Ensuring the security of

their livelihoods is an imperative for
sustainable development.

In several areas, desirable limits and
standards for consumption need to be
established and applied through
appropriate mechanisms including
education, incentives and legislation.
Several traditional practices that are
sustainable and environment friendly

continue to be a regular part of the lives of
people in developing countries. It is
therefore important to evaluate and make
development decisions which structurally
lead to a more sustainable society.

46. How can we achieve our common
future in a sustainable development
framework ?

(i)  Understanding the long term
impact of past industrialization.

(i)  Preventing environmental

damage.
(iii) Understanding common
concerns and shared

responsibilities.
(A) (i) and (ii) are correct
(B) (i) and (iii) are correct
(C) (iii) and (i) are correct
(D) (i), (ii) and (iii) are correct

47.

48.

49.

50.

Paper-I1
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What are central to a strategy to
eliminate  poverty and thereby
ensuring sustainable development ?
(A) Industrialization
(B) Exploitation  of
Resources
(C) Restoring Natural Systems
(D) Encouraging Market Economy

National

How does the survival needs of poor
people affect sustainable
development ?

(A) Diversion of common and
marginal lands to economically
useful purposes.

(B) Poverty magnifies the problem
of hunger and malnutrition.

(C) Continue to degraded the
already degraded environment

(D) None of the above

What are essentials for enabling the
poor to access the benefits offered by
development initiatives and market
opportunities ?

(i) Ensuring security of
livelihoods

(i) Improving literacy and basic
education

(iii) Encouraging unsustainable
patterns of consumption

(iv) Increasing purchasing power

(A) (1), (i) and (iii) are correct.

(B) (i), (ii) and (iv) are correct.

(C) (i), (ii1) and (iv) are correct.

(D) (iii), (iv) and (i) are correct.

What needs to be encouraged to
ensure sustainable development ?
(A) Market driven technology

(B) Environment friendly
traditional practices
(C) Consumption oriented
economy
(D) All the above
S-10-13



e 31X gorya ferem, faepra &
TAT TR ST R T o ol ST
F H RIS B GeTT T & A & | 37
orgd ot Sreepreti= g & forr wamdem
T | SHEEAT T FIH TG A (TS ST
% SR T 60 AT TR sTeieaen |
TSI Tel & | ST ST ol GR&T Grread
AT SHBIA T o I STEeTF & |

T &A1 |, ITHNT & T Aifsa dEr 3K
foreTr, el iR A wHa TRt &
ST YT BT SEvIh ¢ | 9gd 9§
IR T (VM) ST SR 3T ardre)oT
FTHA &, foeprad I o @M o Sed
fTafid 9 7 gUE | 3T 98 TaeE § 6
fasrg & foial @1 geaiea @ iR o fvig
ford St STt WReAeAS T W AT SR
TS &1 3T 3T HY |

46. &9 f5g YR eehei foema T an &
T AT 9iasT i U HT bl
g2
(i) S-SR &  SEwiers

TS hT TR
(i)  STATERONT THAT F AH F

(i) ¥ 9mr fawret siiv e

FTFRETRET T THeT
(A) (i) 3R (i) T T |
(B) (i) i (iii) W& & |
(C) (iii) 3R (i) W € |
(D) (i), (i) 3 (iii) W & |

47.

48.

49.

50.

S-10-13

15

TR T S A SR T ST

faepra giafeaa & = %@ Fifa & o

H1T HROT T € 2

(A)  STENTTeRIHOT

(B)  WITehfcTeh GETEHT ST IE0T

(C) WIldsh oFeremstt &l g Tfud
HTAT

(D) TSR 3TTaTAT i UicdTed AT

TS AT W STRSliedr Sl

HATTTIHAT fHT Th RO Torehrg ot

FHTfer et & 2

(A) I SR T g 1 7eH
pie B 1o 14 B -0 N o
fespuftaaT |

(B) TRIG J@ERT 37 FHUITT i THLT
I ST HA & |

(C) Wt ¥ & T=itpd amameRor =i
e ST IRY Tt § |

(D) 3w H ¥ HiE el |

ferra Tt 3R ISR STaeRT §RT W
o B AT B | RIS B T
S | T S 2

(i)  STiferer S Ge&T GHREd HET |
(i) WERA T Yorqd Rrem 3=
EZGI

IUAM % STERUIE  AHAT
icaTied e |

(iv) 67 i | gfg & |

(A) (i), (i) 2R (iii) T E |

(B) (i), (ii) 2 (iv) @& € |

(C) (i), (iii) 3 (iv) T & |

(D) (iii), (iv) 3 (i) T & |

(iii)

e fawe gifed 3 % o
fF TeTTed e ol ST € 2

(A) TSR afetd WenfTeht

(B) ATERY 3 HA URWNE  HA

BRI
(C) ST ST 3Tefegareen
(D) ST T
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